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ja—F s Hik | BER (kg) S5 (M) =il g Ll FE Hh (BAL)
31700 ¥ ¥ XY 40 864 324 162 162 | BN 44—
31800 1ZH N AR 16 8, 640 108 108 108 | B™H 803K
31940 | FI-HAE 2 540 108 108 108 | BN 54%
31950 AR E 3 864 86 86 86 | B 1048
35220 | M ECHIE 6 3, 650 648 594 594 | BN 6kg
35300 B—2 2 2,074 864 864 864 | BN 2kg
35303 | Ry TEIAED 6 1,728 324 270 270 | BN kg
Y3026 APy EZAED (FE) 1 518 648 648 648 | BN kg
Y3115 (ExAED 2 324 216 216 216 | BA 2kg
35400 EHFED 3 945 324 270 . 216 | B 3kg
Y3033 | &AL 140 10, 152 108 54 54| BN '140kg
36200 &R 50 1, 458 32 32 16 | &M 50kg
136501 o< RE 11 2,376 216 216 216 | B 11kg
33410 [Hr=—LF R 16 346 22 22 22 | B 1648
133300 [ Tmyal— 29 4,752 216 119 119 BH '29kg
33300 7mwval— 32 3,591 65 27 11BN 1081&
146108 | X 2MF DD 47 56, 052 378 378 346 | BN 15678y 7
71060 (A kw2 2,970 32 22 22 | BN 1254
L 71150 | LI 324 32 32 2| BN 103K
Y5004 |{E® 16 6, 048 378 378 378 | B 16kg
53101 HE L KAR 1 1,188 1,188 1,188 1,188 | BN 1kg
Y5009 ({4 AT RAR 14 2,938 216 216 173 | B l4kg
30100 |72V Z A L 180 6, 750 54 32 2| EIRE 180A
30300 A% L 50 8, 640 1,728 1,728 1, 728 | E W 54— A
30300 A% L 50 7,128 1,512 1,512 1,296 | B 54— R
131100 H3E 120 3, 499 540 389 389 | EEIRE 87— A
| 31200 IR 4 1,944 1,944 1,944 1,944 | ERE 1r—=
33500 |47 &% 1 97 11 11 11 | & 94%
33703 & 1, 080 1, 080 1, 080 1, 080 | & 14 —2A
33860 HEIZ AL 756 27 27 11 [HEAR 4048
31700 |3 ¢ XY 170 1,296 108 54 54 BERE 17— A
31950 HAE 15 3, 780 864 756 648 | K IR 5 50—
131930 Zh¥ 2,025 54 32 16 | BB 5 604%
32800 125 5,616 108 108 65 | ‘=I5 603K
34300 723 20 6, 750 1,782 1,620 1,620 |REXK 44— 2
34300 72 L 10 6,264 3,132 3,132 3,132 |fER 24— A
34400 b= k 20 6, 372 1,620 1,296 864 | REA 54— &
34400 | b k 12 3,132 1,404 864 864 |FEL B 34—
34400 ' b~ b M 12 5,184 1,728 1,728 1, 728 |HEA 3 —2A
34460 I=&kF & M 5 3,110 130 130 130 | BEIR G 243> 7
34100 (#A/I 95 33,804 2,160 1,620 1, 620 | = W 1947 — %
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B4 g ' BRFE A #E &EH
a—k LRE ik | PER (kg) &% () =il i FNE PE Hh (A1)
34100 HAK 32 10, 012 119 119 108 | = I 874K
34100 |/ 2L 30 12, 960 2,160 2,160 2, 160 | =i 64—
| 34100 |HAK L 20 5, 616 1, 404 1,404 1,404 |EIR B 4 —
134500 (B —w v M 12 17, 496 146 146 146 |EIR S 1204%
34520 b —= A |L 2 2, 484 2, 484 2, 484 2,484 |EIR B 1 —3
34571 |7 U B (GR) 1 756 108 108 108 | #[E] A
34572 137U B (3E) 1 983 140 140 140 | 7 [H LA
Y3027 L v RloEh¥ 3 1, 296 432 432 432\ 7 AV H  3kg
37200 (L & 52 2L 4 4,104 4,104 4,104 4,104 |BEA 14—
137200 'L X 92 2L 8| 2,538 1,296 1,296 1,242 | [E G2 —R
33400 L& X 26 3,110 54 54 43 | E 64fE
33420 VY —rY—T7LHR 5 259 11 11 11 (fE 2418
33420 (/Y —rU—TLFR L 3 1, 836 1,836 1,836 1,836 |{&IH A==
32900 EAY— 2 346 173 173 173 | f& 2K
133600 /%Y 1 324 108 108 108 | & 4 RES
38100 (LWl 12 7,128 59 59 59 | & i 12078 7
Y3137 Iy AHRL 5 583 32 22 22 K5y 244%
31310 | AT 8 1,296 43 43 22 | t& 404%
31500 |/ 4 2, 160 108 108 108 | IR & 2048
| 32500 | ZxolE 2 216 11 11 11 |42 2031
36340 B LB 52 7, 841 86 76 76 | B IF 10348
37560 | BB 1 540 108 108 108 | X% 5%y 7
38521 KL UH 6 7, 452 124 124 124 | f@ 6048
1 40100 | B A M 20 2, 808 1,404 1,404 1, 404 | R 24— R
40100 | FHA S 20 10, 800 5, 400 5, 400 5,400 |#£8 24— R
41346 | /R— L M 30 3, 888 1, 404 1,404 1, 080 | AEA 13—
| 41460 |HME 10 2, 160 1,080 1,080 1, 080 | BT 24— R
Y4005 (AL 15 9, 180 9,180 9,180 9,180 7 AV AL 1/ —2A
42000 |V AT 30 5, 508 1,836 1,836 1,836 | K& 34—
Y4017 # 2 50 10 5,616 5,616 5,616 5, 616 | & #& 1r—=
46108 | AT D FEE 7 7,106 302 302 281 |BEIRE 24,3
&t 1, 601 357,971




